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1. - The unit step response is y(t) = %— %'e‘” + ie‘“, find Laplace transform of system?

(10%)
A:

2. Find the Laplace transform of the function? (10%)
f@) =5(1 - sint)
A:

3. Find the inverse Laplace transform of the function?. (10%)

-6

4. Find the transfer function of the Fig. 1? (10%)

-j ) = j’(f}
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5. Find the transfer function of the Fig. 2? (10%)
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6. The transfer function of a standard second-order system. Find the damping ratio 1;’ ) and
maximum overshoot (M,) of the transfer function? (10%)

6(5) = 0
) " s2+55+36

A:

7. The transfer function of a standard second-order system. Find the setting time (T;) and
peak time(T,,) of the transfer function? (10%)
25
Gs),= s?+4s + 25

A

8. The input signal is a unit step function. Find the steady state error of the Fig. 37 (10%)
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A:
9. The open loop transfer function of a negative feedback systemis G(s) = S S— Find

5(s%+65+13)

the angle of departure of the root locus under the s = —3 +j2 7 (10%)
A:

10. The Bode'diagram of a minimal phase system is shown in Fig. 4. Find the a and b of the

transfer function G(s)? G(s) = ﬁ (10%)
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